Get the Message

Each row contains two correct and two incorrect statements.
Circle the word above each correct statement. When you

finish, read the circled words and you will get the message!

DID SOMEONE FINALLY HAS

(5x6) +4=382 | (3x8)+7=31 | (4x4)-2=14 | (9x8)—9 =62

HIT WROTE BOOKS A
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(8x6)+5=49 | (7x5)+6=41 | (4x7)—-8=22 | (9x3)-3=24

BOOK REPORT ABOUT THAT

(6x6)+9=45 | (3x6)+5=21 | (8x5)-7=37 | (2x9)—4=14
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EXPLAINS HAS HOW WHY
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(5x1)+8=13 | (7x8)+6=61 | (6x7)-9=33 | (8x9)-3=74
SOME PEOPLE TO FIX

(5x5)+1=28 | 3x7)+5=24 | (4x8)-7=25 | (9x7)—4=59
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BROKEN CLOCKS WHEN AND
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(7x7)+3=54 | (6x9)+6=60 | (5x9)-8=39 | (8x8)—2=62

OTHER IT IS VERY
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O0x3)+7=11 | (9x4)+9=45 | (5x7)—6=29 | (4x6)-4=26

ABOUT ONE GOOD TIME

(2x5)+3=13 | (9x9)+8=86 | (7x6)-7=37 | (3x4)—1=11
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